07810-03 M AHWRERFHE , RSP HHEME

7= miiEA

M
M,
T84 1.4305,

g
ZHN TEWN

BR:
REZNFIE , ASHRIER , RENYIDH. NTZIRERNEER
B, AETBRTHITHIR TEBRANREZF N,

AT Z RARHIE h11 AR,

FEXRER ENRERGA T ARFARITR AR SHE TR ED
WML L. BEREESE K HUURNR, REHZE , FEFEEKX
HRFFH , MASBRAHA LN RE,

07810-03-01001 I 1.0503 9 M3x10 M3 10 | 28 12 14,5 8 - 4
07810-03-01201 Wl 1.0503 11 M4x12 M3 12 | 30 13 15 8 31,8 4
07810-03-01401 L 1.0503 11 MO04X14 M3 14 | 32 14 15 9 33,9 4
07810-03-01501 P E 1.0503 13 M5x16 M4 15 | 36 15 19,5 12 394 | 55
07810-03-01601 bl 1.0503 13 M5x16 M4 16 | 38 16 20 13 394 | 55
07810-03-01801 I 1.0503 13 M5x16 M4 18 | 40 17 21 12,5 422 | 55

© norelem www.norelem.com



07810-03 M AHWRERFHE , RSP HHEME

07810-03-02001 L 1.0503 15 MO06X16 M4 20 | 42 18 21,5 14 464 | 55
07810-03-02201 M E 1.0503 15 MO06X16 M4 22 | 46 20 22,5 12 48,1 55
07810-03-02501 bl 1.0503 15 M06X16 M4 25 | 48 21 23 12,5 50,8 | 555
07810-03-02801 W 1.0503 15 MO06X16 M5 28 | 54 | 22,5 29 18,5 - 7
07810-03-03001 Ml 1.0503 15 M6x18 M5 30 | 56 24 28,5 18 58,6 7
07810-03-03201 W 1.0503 15 M6x18 M5 32 | 58 25 29 18 58,6 7
07810-03-03501 P E 1.0503 15 M6x18 M5 35 | 60 26 30 20 61,6 7
07810-03-03801 bl 1.0503 15 M6x18 M5 38 | 66 27 37 27 - 7
07810-03-04001 I 1.0503 15 M6x18 M5 40 | 66 27 37 27 - 7
07810-03-04501 Wl 1.0503 19 M8x25 M6 45 | 76 31 41,5 28 794 | 85
07810-03-05001 Gk 1.0503 19 M8x25 M6 50 | 82 | 345 43,5 29 84,2 | 85
07810-03-01002 THN 1.4305 9 M3x10 M3 10 | 28 12 14,5 8 - 4
07810-03-01202 TEN 1.4305 11 M4x12 M3 12 | 30 13 15 8 31,8 4
07810-03-01402 TEM 1.4305 11 M04X14 M3 14 | 32 14 15 9 33,9 4
07810-03-01502 THN 1.4305 13 M5x16 M4 15 | 36 15 19,5 12 394 | 55
07810-03-01602 TN 1.4305 13 M5x16 M4 16 | 38 16 20 13 394 | 55
07810-03-01802 THN 1.4305 13 M5x16 M4 18 | 40 17 21 12,5 422 | 55
07810-03-02002 TEN 1.4305 15 M06X16 M4 20 | 42 18 21,5 14 464 | 55
07810-03-02202 M 1.4305 15 MO06X16 M4 22 | 46 20 22,5 12 48,1 5,5
07810-03-02502 THN 1.4305 15 MO06X16 M4 25 | 48 21 23 12,5 50,8 | 55
07810-03-02802 TN 1.4305 15 M06X16 M5 28 | 54 | 225 29 18,5 - 7
07810-03-03002 5N 1.4305 15 M6x18 M5 30 | 56 24 28,5 18 58,6 7
07810-03-03202 TN 1.4305 15 M6x18 M5 32 | 58 25 29 18 58,6 7
07810-03-03502 M 1.4305 15 M6x18 M5 35 | 60 26 30 20 61,6 7
07810-03-03802 THN 1.4305 15 M6x18 M5 38 | 66 27 37 27 - 7
07810-03-04002 TEN 1.4305 15 M6x18 M5 40 | 66 27 37 27 - 7
07810-03-04502 M 1.4305 19 M8x25 M6 45 | 76 31 41,5 28 794 | 85
07810-03-05002 W 1.4305 19 M8x25 M6 50 | 82 | 345 43,5 29 84,2 | 85

© norelem www.norelem.com



